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2 % Density 2.647 g/a 2AAF P.1 NP #H A gk 0.M.C 9.3 (%)
NAEA  Liquid Limit NP (%) =4EAA=u R 19.9 (B ANDA™EANE) 147 (%)
2B Plastic Linit N (9 AWIEDE 035 g g 7.0 (%)
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PERCENT PASSING OF
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ANEYEFA (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 -
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1. v =99 AA
= “ H 3 1 2 151 B
v = " 9 H ko 46 47
Hl o & Wt (g) 44 136 44 581
HSH + /75 % Wai (g) 144,240 142,588
Wais E%s W 2 Ti(C) 15.4 15.4
L Tx(C) A v B9 A @
o Ti(C) o 1 B Wi 1.000000[  1.000000
Wai - W (g) ® 100.104 98.007
dojo] SLE(Tx)el gt I A x=m|E+E
2oy Wax () =@ X ® + Wi 144 . 240 142,588
2.8 F A 3
HFH + =X ARE + B9 T Wb(g)| 159.802 158.175
e ST o] Iawnye u&E9
wAZ A5 T Wo (g) 25.001 25.035
()Y we] Ee o
H]%‘(TOC /TOC) 2.649 2.650
Wo + (Wax — Wb)
2rost &9 Uk (g/cr) 0.99924 0.99924
& 9 2 =(g/cr) 2.647 2.648
¥ 4 # 2.647|(g/cut)
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= = 9 B3 2214.078 cnf A 5892.9¢g
9 2214.078 cir 5892.9 g
] T i 2.647
(AN B+E=)FAl(g) 1 | 10402.7 ! 2 | 10579.8 ! 3 | 10729.9
I 1
Hox 2HA(g) 4509.8 i 4686.9 i 4837.0
Aoy t(g/ar) 2.037 i 2.117 i 2.185
W 1290.7|DW: [ 1231.7|DW: [ 1312.9|DW:
piv: | 1251.2|TW: | 203.7)DW: | 1175.6/TW: | 174.8;DW: 1230.5|TW: 177.1
W : 39.5Ws:  1047.5W: 56.1 Ws: 1000.8w: 82.4 Ws:  1053.4
W: 3.8 W: 5.6 W: 7.8
& 5 H = A | |
WW: | 1163.6/DW: lw: | 1126.2/D: Iy : 1310.9|DW:
DW: | 1128.5(TW: | 187.9pW: | 1078.1|TW: | 204.9|DV: 1227 .6|TW: 175.2
W : 35.1Ws: 9406l 48.1Ws:  873.2)Ww: 83.3Ws:  1052.4
W: 3.7 W: 5.5" W: 7.9
I |
A 3hn] W(%) 3.8 i 5.6 i 7.9
AZWE Y d(g/er) 1.962 i 2.005 i 2.025
D &7 = | |
Az W v g/op) ) 340_5 ______ 4o __2'_395 ______ —- _2§9 ______ _
(A B+E=)T 7 (9) 4 10828.7[ L5 ] 10710.6 L6 —[ 10688.7|
oA ZEA(g) 4935.8 | 4817.7 | 4795.8
Ao Vi(g/en) 2.229 | 2.176 | 2.166
WW: | 1147.4[DV: lw: | 1355.4/DV: byw: | 1423.6DV:
DW: | 1062.6(TW: | 197.8pW: | 1235.1|TW: | 180.1/DV: 1273. 4|TW: 176.4
W' 84.8Ws:  864.8lw: 120.3 Ws:  1055.0)Ww: 150.2 st 1097.0
W: 9.8, W: 11.4; W: 13.7
g o+ v 5 A - -
wi: [ 1282.1|pw: byw: [ 1245.6|DW: byw: [ 1421.6|DW:
DW: | 1184.7|TW: 176.5!DW: 1135. 1|1V | 180.6!DW: 1272 . 4|TW: 178.6
Ww: 97.4 Ws:  1008.2[Ww: 110.5 Ws:  954.5|Ww: 149.2 Ws:  1093.8
W 9.7 W 11.6, W: 13.6,
H o shn] W(%) 9.8 | 11.5 | 13.7
AZA T Yd(g/cr) 2.030 | 1.952 | 1.905
o 7] = 3
o = w el e 2.102 2.029 1.943
B I
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R T
= = H “1:].' A
Al W & E481 A" A 12014.12.06
N A A
Al 2 T F 0 Z(HES7]) A" &) HEs
vl ol &k
T8 %m‘?n)c’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
Ztg 5 0 16.0 31.0 50.0 70.0 92.0] 117.0l 1710 227.0| 339.0| 422.0
=] == ]_
10 |SrEEE g 0.8 1.6 2.5 3.6 4.7 6.0 8.7 11.6 17.3 91.5
(kg f/
=] == ]_1:
?}Mﬁ/?ﬁ) 0 0.0%0| 0.155] 0.250] 0.350] 0.450| 0.584| 0.854] 1.134| 1.603| 2.107
Z{g 2 0 51.0 92.0] 135.0 181.0 229.0 280.0| 389.0 510.0 761.0] 967.0
=] == ]_
95 |SrEEEl 2.6 4.7 6.9 9.2 11.7 14.3 19.8 26.0 38.8 49.3
(kg f/
=] == ]—I:
?Mﬁ/?n: 0 0.2551  0.450]  0.674] 0.904| 1.144] 1.308] 1.943] 2.547| 3.800]  4.829
(Skg 2 0 74.00 160.0] 251.0 351.0] 459.0| 575.0] 806.0| 1059.0| 1555.0| 1944.0
=] == ]—I:
55 O(gz}f 0 3.8 8.2 12.8 17.9 93 .4 99.3 41.1 54.0 79.2 99.1
sted=l 0.370]  0.799]  1.2531  1.753|  2.202| o 2.871|  4.025]  5.288  7.765]  9.708
s . . . . . . . . . .
17 3 (2.5m) g'g <100 = 6.7% 5. Omm 110°13 <100 = 11.0%
42 3 (2.5m) é'; <100 = 16.6% 5. Omm 120°53 <100 = 24.7%
92 3 (2.5m) é'g <100 = 33.2% 5. Omm 150°33 <100 =  51.3%
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Al & 2 :2014.12.06
(=) o 3
w9 dEMNY 29 e A
Al 8 Xt:2ss
1. & . HSH=2H NEZ2LE === £481
i S (2LE) (mm] 75 53 37.5 | 26.5 19 9.5 | 4.75 2 0.85 | 0.425 | 0.25 0.106 | 0.075
T | =EDS%) | 100.0 | 100.0 | 100.0 | 925 | 91.4 | 855 | 765 |58.9 | 39.7 | 265 | 19.4 12.4 10.2
t1|’<j1|‘='o':! Z(MM)| 0.047 | 0.033 | 0.021 | 0.013 | 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
=) o
IIEENE(%) | 8.8 8.0 7.1 6.3 5.9 5.5 5.0 4.6 0
2. A=A
-
UAIIH T M
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£o AT AIE(2.0mH SHE 24)

NEEEREPE JlEHA 2N
AE L XE:2014.12.06 Al & X AES
(BIIHAZAIZ+E2D])L2H 692.15 g £ost=dl(w) : 7.0%
|2 : 577.00 g o9 (Gs) : 2.647
SIAZAZFA W, : 115.15 ¢ 28X (PI) - N.P =AM TAMUES
AXZAMES2AH : Ws=100Ws /(1004+w) : 115.07 ¢
P2.0(2Zd2.0mmolMSl JIMSUES: 58.9%
1. 2IAHXZAIRO & 4H =FH(XHELH|)
NO @ 1 NO : 2 NO : 3
WW = 1471.8 WW = 1465.5 W =
DW = 1384.0 Tw = 187.9 oW = 1384.6 Tw = 175.3 oW = Tw =
Ww = 87.8 Ws = 1196.1  Ww = 80.9 Ws = 1209.3 Ww = Ws =
= 7.3% W= 6.7% W=
Yol o 7.0%
2. UHISH ANE
== Z AR I ER EEREENMEEE = Al A o . r=o| 2E
SEAZ t(min) | A28= r' S520ILm) | L/ t N L/t  (30n)/g(rs—rw) | %ICH&IZD(mm) SENTE  |EEdTE) rH |rasas SR
9:11 1 0.0180f 0.0180 134.6 134.6 11.6002 0.0040 0.0466 25 0.0020f 0.0200 27 . 9% 3.8%
9:12 2 0.0160f 0.0160 138.4 69.2 8.3196 0.0040 0.0334 25 0.0020f 0.0180 25.1% 8.0%
9:15 5 0.0140f 0.0140 142.3 28.5 5.3348 0.0040 0.0214 25 0.0020f 0.0160 22.3% 7.1%
9:25 15 0.0120f 0.0120 146.2 9.7 3.1216 0.0040 0.0125 25 0.0020f 0.0140 19.5% 6.3%
9:40 30 0.0110f 0.0110 148. 1 4.9 2.2219 0.0040 0.0089 25 0.0020f 0.0130 18. 1% 5.9%
10:10 60 0.0100f 0.0100 150.0 2.5 1.5813 0.0040 0.0064 25 0.0020f 0.0120 16.7% 5.5%
13:10 240 0.0090( 0.0090 152.0 0.6 0.7958 0.0040 0.0032 25 0.0020f 0.0110 15.3% 5.0%
9:10 1440 0.0080f 0.0080 153.9 0.1 0.3269 0.0040 0.0013 25 0.0020f 0.0100 13.9% 4.6%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1M & HAZTAIZR 2:2H 2o TOA =241.0507HXI 2 2 0l (mm) 10.87
b : X 2229 20l(mm) 136.84
1/(Ws/V)= 8.69 cm/g Gs/(Gs-0.99678)*rw 1.604 g/cm Vb —‘?—E 2Ll 21 (em) 57.50
A HAASIGS SHHE (o) 58.84
3. HotE
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 437.5 475.0 37.50 32.6% 32.6% 67.4% 39.7%
0.425mm(NO.40) 2 375.9 401.7 25.80 22 . 4% 55.0% 45.0% 26.5%
0.25mm(N0.60) 3 387.3 401. 1 13.80 12.0% 67.0% 33.0% 19.4%
0.106mm(NO. 140) 4 345.9 359.7 13.80 12.0% 79.0% 21.0% 12.4%
0.075mm(NO.200) 5 356.5 360.7 4.20 3.6% 82.6% 17 . 4% 10.2%




FOAUTANE(HEH AE)
ANEHS E481 JISAT} @ 242
NEE P 2014.12.06 NP
- NO.1OMIOI E2 AlRE 22 4D
HHAZS ZBIAER
HHAZ 321 W) CAZAIZ AIZ2H (W)
=
ZHl (MHZIIAEAS+ED]) 4316.6 g (W+=221) 2 2,090.3 g
SII2H 751.8 g EJ|2A 745.4 ¢
HAANSO 2IHEXZ2H(W) 3564.8 g W1 1,344.9 ¢
1. 2mmAl SUHA2Q &H A
NO 1 NO 2 NO
Ww 995.9 Ww 1027.9 WwW
Dw 928.6 Tw 174.9 Dw 961.3 Tw 209.6 Dw
Ww 67.3 Ws 753.7 Ww 66.6 Ws 751.7 Ww
W= 8.9% W= 8.9% W=
HZzs | 8.9%
2. BHAZAIZ2H (WO) = W/ (1+w) 3273.6
3. 2nmAl SUHEAZSAHW2)= W2=WO0-W1 1928.7 g 1928.7
4. P2.0(Y¥2.0mmOl A Sl JIRENE)= W2/Wo 58.9%
5. 2mmA 0l Y2 Alge A=A
H ot 1 2 1 2=1/W0
- - o N deaz o, bJEs] I
MosEsl BARA | g | eww | ¥FER| uss | sas
75 .0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 713.90 244 .40 7.5% 7.5% 92.5%
19.0mm 5 456.80 494 .20 37.40 1.1% 8.6% 91.4%
9.5mm 6 489.70 684.10 194.40 5.9% 14.5% 85.5%
4.75mm 7 524.00 818.40 294 .40 9.0% 23.5% 76.5%
2.0mm 8 431.10 1005.40 574.30 17 .5% 41.1% 58.9%
* AZAI22 1344.90 g
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